

1. Write in Standar Form:

$$y = -2(x + 3)^2 + 7$$

2. Simplify:

$$(2 + i)^4$$

3. Fill in the blanks:

$$x^2 + 42x \underline{\hspace{1cm}} = (\underline{\hspace{1cm}} \underline{\hspace{1cm}})^2$$

1. Write in Standar Form:

$$y = -2(x+3)^2 + 7$$

$$= -2(\underbrace{x^2 + 6x + 9}) + 7$$

$$= -2x^2 - 12x - 18 + 7$$

$$= \boxed{-2x^2 - 12x - 11}$$

2. Simplify:

$$(2+i)^4$$

ANSWERS

$$= (2+i)^2 (2+i)^2$$



$$\begin{array}{c} 2+i \\ 2 \quad \begin{array}{|c|c|} \hline 4 & +2i \\ \hline \end{array} \\ +i \quad \begin{array}{|c|c|} \hline +2i & +i^2 = -1 \\ \hline \end{array} \\ \hline \boxed{3+4i} \end{array}$$

$$= (3+4i)(3+4i)$$

$$\begin{array}{c} 3+4i \\ = \quad 3 \quad \begin{array}{|c|c|} \hline 9 & +12i \\ \hline \end{array} \\ +4i \quad \begin{array}{|c|c|} \hline +12i & +16i^2 = -16 \\ \hline \end{array} \end{array}$$

$$\boxed{-7 + 24i}$$

3. Fill in the blanks:

$$x^2 + 42x \quad \xrightarrow{21^2} \quad \underline{+441} = (\underline{x + 21})^2$$

$\xrightarrow{\frac{42}{2}}$